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Grade VI I   

Lesson  :  14  Symmet ry 

  

  

 

         

 

1.  An equilat er al t r iangle has a r ot at ional symmet r y : of  or der : 

a) 4   b) 3   c) 2   d) none of  t hese 

2. A r ect angle has t he number  of  lines of  symmet r y: 

a) 3   b)2   c) 4   d) 5 

3) A cir cle has : 

a) no line of  symmet r y   b) Four   lines of  symmet r y 

c) Two lines of  symmet r y   d) An unlimit ed number  of  lines of  symmet r y 

4) A scalene t r iangle has : 

a) No line of  symmet r y   b) One line of  symmet r y 

c) Two lines of  symmet r y   d) None of  t hese 

5. A r egular  pent agon has how many lines of  symmet r y? 

a)3   b)4   c) 5   d)6 

6. Which of  t he f ollowing let t er s of  t he English alphabet  has r ef lect ional symmet r y about  a

  ver t ical mir r or ? 

a) A   b) B   c) C   d) D 

7. What  is t he or der  of  r ot at ional symmet r y of  a squar e? 

a) 3   b) 4   c) 5   d) 6 

 

 

 

 

 

 

1)  b 2) b 3)d 4) a 5) c 6) a 7) b 

I .  Mult iple choice quest ions 

Object ive Type Quest ions 



 

 

 

                                                                         2                                                      Created by Pinkz 

 

 

 

 

1. The number  of  lines of  symmet r y in t he f igur e given below is (HOTS, NCERT) 

 

 

 

 a) 4 b) 8 c) 6  d) inf init ely many 

2.  The number  of  lines of  symmet r y is 

 

 

 

 

 a) 1 b) 3 c) 6  d) inf init ely many 

3. The or der  of  r ot at ional symmet r y in t he f igur e given below is (HOTS, NCERT) 

 

 

 

 a) 4 b) 8 c) 6  d) inf init ely many 

4. The or der  of  r ot at ional symmet r y in t he f igur e given below is ( NCERT) 

 

 

 

 a) 4 b) 2 c) 1  d) inf init ely many 

5. The angle of  r ot at ion in equilat er al t r iangle  is (HOTS, NCERT) 

 a) 450 b) 600 c) 900  d) 1800 

6. The angle of  r ot at ion f or  t he f igur e given below (NCERT) 

 

 

 

 a) 600 b) 700 c) 900  d) 1200 

7. I n t he wor d “MATHS’, which of  t he f ollowing pair s of  let t er s shows r ot at ional symmet r y? 

 a) M and T b) H and S c) A and S d) T and S 

I I .  Mult iple choice quest ions 
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8. Which of  t he f ollowing as a line of  symmet r y? 

 

 

9. Which of  t he f ollowing ar e  r ef lect ions of  each ot her ? 

 

 

 

10. Which of  t he f ollowing let t er s of  English alphabet s have mor e t han 2 lines of  symmet r y? 

 a) Z b) O c)  E  d) H 

 

 

 

1. How many lines of  symmet r y ar e t her e in an equilat er al t r iangle? 

 a) 1   b) 2   c) 3   d) 4 

2. How many lines of  symmet r y ar e t her e in a squar e? 

 a) 1   b) 2   c) 3   d) 4 

3. How many lines of  symmet r y ar e t her e in r ect angle? 

 a) 1   b) 2   c) 3   d) 4 

4. How many lines of  symmet r y ar e t her e in  a r egular  pent agon? 

 a) 1   b) 2   c) 3   d) 5 

5. How many lines of  symmet r y ar e t her e in a r egular  hexagon? 

 a) 2   b) 4   c) 6   d) 3 

 

6. How many lines of  symmet r y ar e t her e in a r egular  hexagon? 

 

 

 

 a) 1   b) 2   c) 3   d) 4 

7. How many lines of  symmet r y ar e t her e in t he f ollowing f igur e? 

 

 

 

I V.  Mult iple choice quest ions 
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 a) 1   b) 2   c) 3   d) 4 

8. How many lines of  symmet r y ar e t her e in t he f ollowing f igur e? 

 

 

 

 a) 1   b) 2   c) 3   d) 4 

9. How many lines of  symmet r y ar e t her e in t he f ollowing f igur e? 

 

 

 

 a) 4   b) 3   c) 2   d) 1 

10. How many lines of  symmet r y ar e t her e in t he f ollowing f igur e? 

 

 

 

 a) 2   b) 1   c) 4   d) 3 

11. How many lines of  symmet r y ar e t her e in t he f ollowing f igur e? 

 

 

 

 a) 1   b) 2   c) 3   d) None of  t hese 

 

12. How many lines of  symmet r y ar e t her e in t he f ollowing f igur e? 

 

 

 

 a) 1   b) 2   c) 3   d) I nf init ely many 

13. How many lines of  symmet r y ar e t her e in an isosceles t r iangle? 

 a) 4   b) 3   c) 1   d) 2 

14. How many lines of  symmet r y ar e t her e in a scalene t r iangle? 

 a) 1   b) 04   c) 2   d) 4 
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15. How many lines of  symmet r y ar e t her e in a r hombus? 

 a) 1   b) 2   c) 3   d) 4 

16. How many lines of  symmet r y ar e t her e in a par allelogr am? 

 a) 0   b) 1   c) 2   d) None of  t hese 

17. How many lines of  symmet r y ar e t her e in a quadr ilat er al? 

 a) 0   b) 2   c)3   d) 4 

18. The or der  of  r ot at ional symmet r y of  an  equilat er al t r iangle is? 

 a) 1   b) 2   c) 3   d) 4 

19. The or der  of  r ot at ional symmet r y of  a squar e is? 

 a) 1   b) 2   c) 3   d) 4 

20. What  is t he or der  of  t he r ot at ional symmet r y of  t he f ollowing f igur e? 

 

 

 

a) 4   b) 3   c) 2   d) 1 

21. The or der  of  r ot at ional symmet r y of  a f ollowing f igur e about  t he point  mar ked x (cr oss) is 

 

 

 

 

a) 1   b) 2   c) 3   d) 4 

 

22. The or der  of  r ot at ional symmet r y of  t he f ollowing f igur e about  t he point  mar ked x is. 

 

 

 

 a) 1   b) 2   c) 3   d) 4 

23. The or der  of  r ot at ional symmet r y of  t he f ollowing f igur e about  t he point  mar ked x is. 

 

 

 a) 2   b) 3   c) 4   d) 1 

X 
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24. Which of  t he f ollowing let t er  of  English alphabet  has r ef lect ional symmet r y about   a 

 ver t ical mir r or ? 

 a) H   b) J    c) Z   d) P 

25. Which of  t he f ollowing let t er  of  English alphabet  has r ef lect ional symmet r y about   a 

 hor izont al mir r or ? 

 a) H   b) K   c) M   d) W 

26. Which of  t he f ollowing let t er  of  English alphabet  has r ef lect ional symmet r y about   a 

 hor izont al mir r or ? 

 a) O   b) Y   c) T   d) L 

27. The quadr ilat er al which has bot h line and r ot at ional symmet r y of  or der  mor e t han 1 is 

 a) isosceles t r iangle    b) r hombus 

 c) scalene t r iangle    d) squar e 

1. c 2. d 3. b 4. d 5. c 6. a 7. a 8. a 9. d 10. b 

11.a 12. d 13. c 14. b 15. b 16. a 17. a 18. c 19. d 20. a 

21. a 22. c 23. a 24. a 25. a 26. a 27.d    

 

 

 

   

 

 

 

 

1. The f ollowing f igur e has____ver t ices_____edges and ____f aces. 

 

 

 

  

 The given f igur e has 10 ver t ices, 15 edges and 7 f aces. 

2. Rot at ion t ur ns an obj ect  about  a f ixed point . This f ixed point  is called. 

 Cent r e of  r ot at ion 

 

3. I n an isosceles r ight  angled t r iangle, t he number  of  lines of  symmet r y is (NCERT) 

 I n an isosceles r ight  angled t r iangle, t he number  of  lines of  symmet r y is one i.e. 

 

 

 

Hint s /  Solut ions 

I .  Fill in t he Blanks 



 

 

 

                                                                         7                                                      Created by Pinkz 

 

 

4. Rhombus is a f igur e t hat  has ____lines of  symmet r y and has a r ot at ional symmet r y of  

 or der  4 . 

 

 

5. I sosceles t r iangle is a f igur e t hat  has a line of  symmet r y, but  lacks r ot at ional symmet r y.

   (NCERT) 

6. Quadrilat eral is a f igur e t hat  has neit her  a line of  symmet r y nor  a r ot at ional symmet r y. 

Quadrilateral not  any special t ype of  quadr ilat er al, squar e, r ect angle et c., is a f igur e  

t hat  has neit her  a line of  symmet r y nor  a r ot at ional symmet r y. 

7. Each of  t he let t er s H,N,S and Z has a r ot at ional symmet r y of  or der  2 . (NCERT) 

8. Or der  of  r ot at ional symmet r y of  a r ect angle is 2 . 

9. Or der  of  r ot at ional symmet r y of   a cir cle is inf init e . (NCERT) 

10. Line of  symmet r y f or  an angle is it s bisect or . 

11. Or der  of  r ot at ional symmet r y of  is                 8. 

 

 

 

 

 

 

1. A cir cle has t wo lines of  symmet r y . (NCERT) 

False, a cir cle has inf init e lines of  symmet r y i.e. 

 

 

 

2. An angle has t wo lines of  symmet r y. 

 False , an angle has only one lines of  symmet r y as it s bisect or . 

3. A r egular  hexagon has six lines of  symmet r y. 

 Tr ue, a r egular  hexagon has six lines of  symmet r y. 

 

 

4. An isosceles t r apezium has one line of  symmet r y.  

 Tr ue, an isosceles t r apezium has one line of  symmet r y. 

I .  True or False 
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5. A par allelogr am has t wo lines of  symmet r y. (NCERT) 

 False, a par allelogr am can have mor e t han t wo lines symmet r y. E.g. squar e. 

 

 

 

6. Or der   of  r ot at ional symmet r y of  a r hombus is f our . 

 False, Or der   of  r ot at ional symmet r y of  a r hombus is 2. Which means t he r hombus is 

r ot at ed in t he clockwise dir ect ion t o complet e one r ot at ion. 

7. An equilat er al t r iangle has six lines of  symmet r y. (NCERT) 

False, An equilat er al t r iangle has t hr ee lines of  symmet r y 

8. Or der  of  r ot at ional symmet r y of  a semi-cir cle is t wo. 

 False, semi-cir cle has  no r ot at ional symmet r y 

9. The number  of  line of  symmet r y of  a r egular  polygon is equal t o t he ver t ices of  t he polygon. 

Tr ue, t he number  of  line of  symmet r y of  a r egular  polygon is equal t o t he ver t ices of  t he 

polygon. E.g. Pent agon has 5 ver t ices , so t he number  of  lines of  symmet r y is f ive. 

10. The angle of  r ot at ional symmet r y of  a f igur e is 4 and t he angle of  r ot at ion is 1800 only. 

 False, if  angle of  r ot at ional symmet r y of  a f igur e is 4, t hen t he angle of  r ot at ion is 						ଷ଺଴బସ 	 = 900 . 

 

 

 

Column A Column B 

a) A half -t ur n means r ot at ion by i) 180 0 

b)A quar t er  – t ur n means r ot at ion  

by 

ii) side and angles 

c) A complet e t ur n means r ot at ion by iii) 900 

d) Regular  polygon have equal iv) 360 0 

 

 

 

 

 

a. (i) b.(iii) c. (iv) d. (ii) 

I .  Mat ch t he f ollowing 
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1.  How many lines of  symmet ry are there in a rect angle? 

 Two 

2.  How many lines of  symmet ry are there in a square? 

 Four  

3.  How many lines of  symmet ry are there in a circle? 

 I nf init e 

4.  How many lines of  symmet ry are there in a isosceles t riangle? 

 One 

5.  Name a solid which has only one vert ex 

 Cone 

 

 

 

1.  Copy t he f igure with punched holes and f ind t he axes of  symmet ry f or (NCERT) 

   

 

 

 

 

 

 

Very Short  Answer Quest ions 

Very Short  Answer Quest ions 
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2.  Give t he line (s) of  symmet ry,  f ind the other hole(s).  (NCERT) 

  

3.  I n t he f ollowing f igures,  the mirror line (i. e. ,  the line of  symmet ry ) is given as a 

   dot t ed line.  Complet e each f igure perf orming ref lect ion in t he dot t ed (mirror) line

 (You might  perhaps place  a mirror along t he dot t ed line and look int o t he mirror f or 

 t he image.  Are you able t o recall the name of  t he f igures you complet e? 

 

 

4.The f ollowing f igur es have mor e t han one line of  symmet r y.  Such f igur es ar e said t o have 

mult iple lines of  symmet r y. 

Dr aw mult iple lines of  symmet r y in each of  t he f ollowing f igur es: 
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5. Does t his shape (Figur e) have r ot at ional symmet r y about  t he mar ked point ? 

 

 

Yes, t he f igur e above has r ot at ional symmet r y about  t he mar ked point (x) 

6. Can you now t ell t he or der  of  t he r ot at ional symmet r y f or  an equilat er al t r iangle? (NCERT) 

 

Ther e ar e exact ly t hr ee posit ions wher e t he t r iangle looks t he same. 

7. I f   a f igur e has t wo or  mor e lines of  symmet r y, should it  have r ot at ional symmet r y of  or der  

mor e t han I ? 

Yes. 

8. Can we have a r ot at ional symmet r y of  or der  mor e t han I  whose angle of  r ot at ion is  

 i) 450?     ii) 170? 

 i) Yes     ii) No. 

 

 

 

 

 

 

 

 

 

 

 

 

2. Does a kit e has a line of  symmet ry,  if  yes show it  ? 

  Yes, t her e is one line of  symmet r y 

 

 

 

I  Short  Answer Quest ions 
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3.  What  ot her names can be given t o the line of  symmet ry of  : 

 (a) An isosceles t riangle?  B) A Circle 

  a) Median of  an isosceles t r iangle 

  b) Diamet er  of  a cir cle  

4.  St at e t he number of  lines of  symmet ry f or t he f ollowing : 

 a) A r egular  hexagon 

 b) A par allelogr am 

 a) A r egular  hexagon has six lines of  symmet r y. 

 b) A quadr ilat er al (par allelogr am) in gener al has no line of  symmet r y. 

5.  Does every t rapezium have a line of  symmet ry? I f  any,  show it .  

 No, gener ally t r apezium has no line of  symmet r y, leaving isosceles t r apezium. 

 I n isosceles t r apezium, 

 AD=BC. So, t her e is one line of  symmet r y. 

 

 

  

 

 

6.  St at e about  t he rotat ional symmet ry of  a square.  

 A squar e has a r ot at ional symmet r y of  or der  4 about  it s cent r e, I n t his case:  

 a) The cent r e of  r ot at ion is t he cent r e of  t he squar e. 

 b) The angle of  r ot at ion is 900. 

c) The dir ect ion of  r ot at ion is clock wise. 

d) The or der  is 4. 
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7.  Does an isosceles t riangle has a line of  symmet ry.   I f  any,  show it  

 I sosceles t r iangle has only  one line of  symmet r y. 

 

 
8.  How many line of  symmet ry does t he given f igure have? Draw these lines.  

 

 

 

 

 

 

 

 

 

9.  Draw t he line of  symmet ry f or given f igures:  

 

 

 

 

 

 

 

 

 

10.  Following let t ers of  English alphabet  are symmet rical about   a line.   I dent if y,  a line of  

 symmet ry in each case. : 

 a)  A  b)  B  

 c) C  d) D 

 e) E  f ) M 

 g) T  h) U 

 i)  V  j ) W 

 k) X  l) Y 
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11.  Each of  t he f ollowing let ters f rom English alphabet   has t wo lines of  symmet ry.  

   I dent if y lines of  symmet ry in each case.  

 a) H    b) I    c) O 

 The dot t ed lines ar e lines of  symmet r y in each case. 

 

 

 

12.  Draw all t he lines of  symmet ry f or t he f ollowing let t ers if  t hey exist .  

 

 

 

 

 

 

 

 

 

 

13.  Stat e whet her the f igure shows rot at ional symmet ry.   I f  yes,  t hen what  is t he order 

 of  rot at ional symmet ry.  

 

 

 

 

 

The given f igur es shows r ot at ional symmet r y. The or der  of  symmet r y =4, Which is clear  f r om 

t he f ollowing f igur es. 

 

 

 

 

 

 

14.  I dent if y the f ollowing f igures :  

  

 

 

 

 

 

 a) Rect angular  pyr amid    b) Tr iangular  Pr ism 

15.  Which of  t he f ollowing shapes have rot at ional symmet ry about  the marked point ? 
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 We know t hat , af t er  a r ot at ion, if  an obj ect  looks exact ly t he same as or iginal, t hen it  has  

r ot at ional symmet r y. 

Her e, f igur es (b), and (d) have r ot at ion of  symmet r y. 

 

16.  Name the quadrilateral which have both line and rot at ional symmet ry of  order more

  t han  1.  

 The name of  quadr ilat er al having bot h line of  symmet r y and r ot at ional symmet r y of  

or der  mor e t han 1 is squar e.  I t  has 4 lines of  symmet r y and r ot at ional symmet r y of  or der  4. 

 

 

 

 

17.  Af t er rot at ing by  600 about   a cent re,  a f igure looks exact ly t he same as it s original 

 posit ion.   At  what  ot her angles will t his happen f or t he f igure.   

Af t er  r ot at ing by  600 about   a cent r e, a f igur e looks exact ly t he same as it s or iginal 

posit ion.  At  what  ot her  angles will t his happen f or  t he f igur e at  angles 1200, 1800, 2400, 3000, 

3600 r espect ively. 

 

18. Dr aw all lines of  symmet r y f or  each of  t he f ollowing f igur es. 
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1.  St at e t he number of  lines of  symmet ry f or t he f ollowing f igures: (NCERT) 

 i) An equilateral t riangle ii)  A regular hexagon 

 iii) A square   iv) A parallelogram 

 i) An equilat er al t r iangle has 3  lines of  symmet r y 

 ii) A r egular  hexagon has 6 lines of  symmet r y 

 iii) A squar e has 4 lines of  symmet r y. 

 iv) A par allelogr am has o lines of  symmet r y 

 

2.  Give t hree examples of  shapes with no line of  symmet ry.  (NCERT) 

 i) Scalene t r iangle b) The let t er  F  c) A par allelogr am 

3.  What  ot her name can you give t o t he line of  symmet ry of  (NCERT) 

 i) an isosceles t r iangle? 

 ii) A cir cle? 

 i) Median    ii) Diamet er  

4.  Give t he order of  rotat ional symmet ry f or each f igure.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

I  Short  Answer Quest ions 



 

 

 

                                                                         17                                                      Created by Pinkz 

 

 

 

 

5.  Name any t wo f igures that  have both line symmet ry and rot at ional symmet ry 

 

 

 

 

 

 

 

6.  Name t he quadrilat erals which have both line and rotat ional symmet ry of  order more 

 t han 1.  

 The squar e, r ect angle and a r hombus ar e t he quadr ilat er als  having bot h line symmet r y 

and r ot at ional symmet r y. 

 

7.  I f ,  af t er a rot at ion,  an obj ect  looks exact ly t he same,  we say t hat  it  has a rotat ional 

 symmet ry.  

The f igur e will look same as it s or iginal posit ion at  1200, 1800, 2400, 3000, 3600 

r espect ively. 

 
The f igur e a, b, d, e and f  have r ot at ional symmet r y of  or der  mor e t han 1. 

 

 

 

1. What  let t ers of  the English alphabet  have ref lect ional symmet ry (i. e.  symmet ry ) 

relat ed t o mirror ref lect ion ) about  (NCERT).   

i) a Vert ical mirror ii) a horizont al mirror  

iii) bot h horizont al and vert ical mirrors 

i) Symmet r ical about  ver t ical mir r or  ar e : 

 A,H,I ,M,O,T,U,V,W,X and Y 

ii) Symmet r ical about  hor izont al mir r or  ar e 

 B,C,D,E,H,I ,O and x 

iii)  Symmet r ical about  bot h hor izont al and ver t ical mir r or s. 

 O, X ,H, I  

Long Answer Quest ions 
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3.  Draw,  wherever possible,  a rough sketch of  

 i) a t riangle with bot h line and rot at ional symmet ries of  order more t han 1.  

 ii) a t riangle with only line symmet ry and no rot at ional symmet ry of  order more  

t han 1.  

 iii) a quadrilat eral with a rotat ional symmetry of  order more t han 1 but  not  a line 

symmet ry.  

 iv) a quadrilateral with a line symmet ry but  not  a rotat ional symmet ry or order  

more than 1.  

(i) An equilat er al t r iangle has 3 lines of  symmet r y. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4.  Fill in the blanks: 

 

4. Fill in t he blanks : 
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5.  I llust rate the rot at ion of  an equilateral t riangle and f ind it s order of  rotat ional order.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Since, each of  t he above t hr ee posit ions f it s int o t he or iginal. ∴I t  has a r ot at ional symmet r y of  or der  3. 

6.  Find the order of  t he rotat ional symmet ry of  a square.  

 Let  us consider  a squar e ABCD 

 

 

 

 

 

 

 

 

 

 

Shape Cent r e of  Rot at ion Or der  of  Rot at ion Angle of  Rot at ion 

Squar e Point  of  int er sect ion 

of  diagonals 

4 900 

Rect angle Point  of  int er sect ion 

of  diagonals 

4 900 

Rhombus Point  of  int er sect ion 

of  diagonals 

4 900 

Equilat er al Tr iangle Point  of  int er sect ion 

of  diagonals 

3 1200 

Regular  Hexagon Point  of  int er sect ion 

of  diagonals 

6 600 

Cir cle Cent r e I nf init e Ever y angle 

Semi-Cir cle Cent r e 4 900 
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Obviously, each of  t he above f our  t imes, t he f igur e f it s on-t o-it self . ∴ I t  has a r ot at ional symmet r y  of  or der  4. 

7.  A circle  is symmet rical about  each one of  it s diamet ers as shown in t he f ollowing 

f igure and  t heref ore,  it  has an unlimited number of  lines of  

symmet ry.  Does a semi- circle also have  unlimit ed number of  

lines of  symmet ry?  

 Since, a semi-cir cle has only one diamet er . 

 ∴ A semi-cir cle ABCD has one line of  symmet r y, namely t he 

per pendicular  bisect or  (1)  of  it s diamet er  AB as shown below. 

 

 

 

 

 

 

 

 

 

8.  The adj oining f igure is a rhombus.   I t  is symmet rical about  each one of  it s diagonals,  

i. e.   t here are t wo lines of  symmet ry f or rhombus.   How many lines of  symmet ry can 

t here be in  a kit e ABCD.  
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The f ollowing f igur e r epr esent s a kit e ABCD. 

Since, in t he kit e (shown in t he f igur e) ABCD. 

AB = AD AND BC  = CD. 

Obviously, it  is symmet r ical about  it s diagonal AC. 

Thus, it  has only one  line of  symmet r y. 

 


